Guide #2 - Phi 1120

Movies: There will be a few questions over the movies as they related to the concepts we’ve discussed in class and/or as to their general content




Levin
1. Backward and forward looking justification
2. Strong and weak affirmative action
3. What are Levin’s 3 reasons for allowing the free market to better compensate men over women?
4. What problem does Levin have with the role model argument?
5. What are the 5 requirements for legal compensation and explain (according to Levin) how women as a class fail each of these requirements.

Hettinger
6. Know his 7 responses for affirmative action (his responses to opponents of affirmative action)

Thomasma
7. [bookmark: _GoBack]What are the three reasons for telling the truth?
8. What are Thomasma’s 4 assumptions?
9. What are the 2 goals of the healthcare giver?
10. What are the five categorical case-study categories, and how does Thomasma apply his principles to them?

Freedman
11. What are the three hard questions and how does Freedman answer them?
12. Explain his reasons for answering yes.
13. What are the 4 alternative resolutions and what is Freedman’s response to these?

Subin
14. What is a false defense and what is allowed under the current system?
15. Explain the two reasons for a false defense and Subin’s response

De George
16. Know when whistleblowing is permissible and when it is obligatory.

Davis
17. What are the three paradoxes?
18. What is his complicity theory?

Wall
19. Know (be able to explain) Wall’s 4 necessary and jointly sufficient conditions

Feary
20. Meritor Savings Back v Vinson (1986) decided what?
21. According to Feary, why are Wall’s conditions not enough?
22. Why is a family resemblance definition necessary?
23. What are the 5 reasons she gives for why businesses must be concerned about sexual harassment

Rauch
24. What does Rauch see as the difference between Title VII in its original form and how the courts have applied it since?
25. He believes this violates what?
26. What is Volokh’s response to this problem?
27. What is Rauch’s response to this problem?
